Experimental Probability

Example 1) In Lions home opener against St. Louis, Matthew
Stafford completed 32 passes out of 48 attenmpts. Findthe
experimental probability of Sta fford conpleting a pass.
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Your Tum 1) Inthe NFC Chanpionship game, Colin Kaepemick
completed 16 passes outof21 attenmpts. Find the experimental
probability of Kaepemick completing a pass.
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Example 2) A classtossed coms &recorded 161 headsand 179
tails. Whatisthe experimental probability ofheads?
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Your Tum 2) A classtossed cons & recorded 150 heads and 100
tails. Whatisthe experimental probability oftails?
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Theoretical Probability

Example 3) Find the theoretical probability of getting an even
number when youroll a number cube.
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Your Tum 3) A jar contains 30red marbles and 50 blue marbles.
You pick one marble fromthe jaratrandom Find the theoretical
probahility that you will chose a red marble.
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Example 4) Ajar contains 30 red marbles, 50 blue marbles, and
20 white marbles. You pick one marble fromthejaratrandom
Find the theoretical probability that youwill chose ared orblue
marble.
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Your Tum 4) Suppose youroll a number cube. Findthe
theoretical probability ofrolling a numberlessthan3.
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Example 1) Fold vour hands so vour fingers interlace. Do vou naturally place vour left or right thumb on top?
Placing vour left thumb on topis a dominant genetic trait.

Suppose a child has parents who both have just one dominant gene. Make a table. Let G represent the dominant

gene (left thumb on top) & let g represent therecessive gene (right thumb on top). What is the theoretical
probability that a child will naturallv place theleft thumb on top?
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Suppose a child has a father whose gene pair is gg and the mother has Gg. Make a table. What is the theoretical
probability that a child will naturally place the left thumb on top?
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Example 2) Suppose all the points on the dartboard are equally likely to be hit by a dart vou have thrown. Fin

the probability of sconng at least ten points. l D 4+ of l‘“ Shgr ) %
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